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ST. LAWRENCE HIGH SCHOOL
A JESUIT CHRISTIAN MINORITY INSTITUTION

WORK	SHEET	19 SOLUTION

Sub:	ENGLISH ‘B’ Class: XII F.	M	:15
Topic	:	ASLEEP	IN	THE	VALLEY GRAMMAR Date:	24.06.2020
DO AS DIRECTED :                                                                                              1x15=15
1.Keep him warm.(change the voice)
Ans: Let he be kept warm.
2. They fill the hollow full of light.(change the voice)
Ans: The hollow is filled full of light by them.
3. The humming insects don’t disturb his rest.(change to a complex sentence)
Ans: The insects which are humming don’t disturb his rest.
4. His smile is like an infant’s.(change to a negative sentence)
Ans: His smile is not like an adult’s.
5. ____ soldier, very young , lies open-mouthed,

_____ pillow made ____ fern ____ his head,
Asleep; stretched _____ the heavy undergrowth,
Pale _____ his warm, green, sun-soaked bed.( fill in the blanks with articles and prepositions)

Ans: A soldier, very young, lies open-mouthed,
A pillow made of fern beneath his head,
Asleep; stretched in the heavy undergrowth,
Pale in his warm, green , sun-soaked bed.

6. A soldier, very young ,lies open-mouth.(correct the error)
Ans: A soldier, very young, lies open-mouthed.
7. Ah, Nature keep him warmth.(correct the error)
Ans: Ah, Nature keep him warm.
8. The Sun’s rays fill the hollow. The rays stream from the mountain top.(join using participles)
Ans: The Sun’s rays streaming from the mountain top fill the hollow.
9. The soldier lies asleep. He is stretched in the heavy undergrowth.(join using participles)
Ans: Lying asleep, the soldier is stretched in the heavy undergrowth.
10. The soldier keeps one hand on his breast.(change the voice)
Ans: One hand is kept by the soldier on his breast.
11. Two red holes mark the side of the soldier.(change the voice)
Ans: The side of the soldier is marked by two red holes.
12.His feet are among the flowers. He sleeps.(combine to form a simple sentence)
Ans: He sleeps with his feet among the flowers.
13.He is a young soldier. He is a casualty of war.(join to form a compound sentence)
Ans: He is a young soldier, but he is a casualty of war.
14. There is a small green valley. A slow stream flows there.(join to form a complex sentence)
Ans: There is a small green valley where a slow stream flows.
15.The soldier slept stretching in the heavy undergrowth.(find the gerund in the given sentence)
Ans: Stretching.
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